
tr 

- 	 - 2- 

The seven countries express their will to take as 
goals for a ceiling on oil imports in 1985, the following 

- For France, Germany, Italy*, and the United 
Kingdom: the 1978 figure. 

- Canada whose oil production will be declining 
- dramatically over the period between now and 

1985, will reduce its annual average rate of 
growth of oil consumption to 1%, with the 
consequent reduction of oil imports by 50,000 
barrels per day by 1985. Canada's targets for 
imports will therefore be 0.6 million barrels per 
day. 

Zapan adopts as a 1985 target a level not to 
exceed the range between 6.3 and 6.9 million 
barrels a day. Zapan will review this target 
periodically and make it more precise in the 
light of current developments and growth 
projections, and do their utmost to reduce oil 
imports through conservation, rationalization of 
use and intensive development of alternative 
energy sources in order to move toward lower 
figures. 

The United States adopts as a goal for 1985 
import levels not to exceed the levels either of 

O 1977 or the adjusted target for 1979, i.e. 8.5 
e4 	 million barrels per day. 

These 1985 goals will serve as reference to 
monitor both enèrgy conservation and the development of 
alternative energy resources. 

A high level group of representatives of our 
countries and the EEC Commission, within the OECD, will 
review periodically the results achieved. Slight 
adjustments will be allowed to take account of special 
needs generated by growth. 

In fulfilling these commitments, our guiding 
orinciple will be to obtain fair supplies of oil products 
for  all quantities, taking into account the differing 

7--  patterns of supply, the efforts made to limit oil imports, 
the economic situation of each country, the quantitites of 
oil available, and the potential of each country for energy 

c4 	conservation. 

*Footnote: Italy's commitment with reference to the 1978 
level is accepted in the context of the overall 
comoitment of the Eurozean Coomunity. 
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